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In rotational molding

: i emmaity ie required to aid in the flow of the
a. High Zero Shear Viscosity is regu red to aid

polymer within mold
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One of the following statertients are true regarding blow molding
a. Most thermoset plastics can be blow molded (in theory)

Mosl thermoplastics cannot be blew molded (in theory)

c. Polyolefins are not the easiest to proce:

5ol

a. PVC is not temperature sensitive

e

tel e. none of them is true
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What is the difference between plastic sheet and plastic film

Q. plastic sheet is made by film blowing while plastic films are mada

Dy extrusion

t is made by extrusion while plastic films oreé made s
E b. plastic sheeat is made Dy extrusion while plastic ¥

film blowing
ilms are
f heet is made by injection molding while plastie films
nlastic sheet 1s made Dy
ide b

made by film blowin

stic films are made by
avtrusion while [?-l:IE.--.I ms are n

injection molding




It @ part is to be made of Nylon-6,6 by injection molding and one of it
dimensions is 100 mm Taking st nnKage into considaration Compute
the sorresponding dimension of the mold cay y

aBaulii
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valde 5= 0,014 for Nylon-6,6

WRITE YOUR FINAL ANSWER ROUNDED TO ONE DECIMAL PLACE AND DONT
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~ What is the difference between plastic sheet and plastic film

O a. Plastic Sheet has a thickness less than 0.25 mm while plasﬁcﬂlm ______
thickness greater than 0.25 mm 1

O b. Plastic Sheet has a thicknesf less than 0.025 mm while plastic film h
thickness greater than 0.025 mm

O €. piastic Sheet has a thickness greater than 0.25 mm while plastic ﬁlm
thickness less than 0.25 mm

l-'l"' r
v L -.11,'.

O d.Plastic Sheet has a thickness greater than 1 mm while plastic fllm' as a
thlr.:kna_ss less than 1 mm

o e R T R R Stthdtedittaddineitingi Sl Eiidi1ii1i1i1i i Rt Rt



HHHH Hiil i LAy s P
"iﬂ h r-]. it f-: ! f””;l Fhidgo
e R, i
,“ﬂ[ 4"_1;]‘?'5,-.-{!.?5';f:‘i.-;.@;.‘;_;.n e

i Jiff

e T il

i dm;zr i f :*sf-*.*'r"-/f""ff;’ﬂf.!i“fﬁ’ﬂ.

uuuuuuuuuuu

........
||||||||||
F T R L b H R R I

.......

--------------

|.-.-:--": i | ER AR L i HUTEENETISE Fid
b Tl i ] 1 HEr et e f g AT HED

......
.....
llllllllllllll

...................
........
e e fidhter thlerances than other Therm
- () c.that aon't heed 1O NOIA tignter wiceidrnices il ULLITE it i
O cneris ine s IR s b it < b b ottt e S
|rm'i.'-|.;' mlaa.
LRIty ol
IE'- = et 1 l:
: el O d
Fris o
1.1"::":;,1' .-_"._ e wtth
i ¢ '.::.-C_..-I_ I_.:-“-h:"_" %EIE, st




- Al

*-. ol ST
b = hltps.fﬂ!_lemms.r_c:rnhmmd... W = T Not syncing |

|
Question 19 Time left 0:06:50

Mot yel answearad
Warkead out ol 2.00

4

Flag question

om by Forms
a. The prasence O7 CUlts i

sl o burrlrey e ey Qiar
b. The presence of hydrog

Al
< =T
~ arbon-carotit e bond
= dit !
a] d. Of irbon-carbOil e
Lz i el |
i alent bo




ttps://juexams.com/moodle/mod/quiz/attempt.php?attempt=4220068cmid= 280589&page=15

 [ICS ENGINEERING

My courses NGINEERI

J F
)
- i &
L1 41 B | [ Im ¢ 11 1L ICHIry (¢
d 1 L
_—
i®#} Q. Fo . el itional molding are sy | g
oof
D. Pa ITce g [ SiNaal -
{ Aart lale y retaticnal molding c | !
Harl nade ¢ . 3




Time left 0 ';.

Question 23
compared to HDPE, LDPE has

Not yet
answered

Marked out of
a. none is tru

200
¥ Flag : , : : : : :
| question ) b. a series of crosslinks leading to @ higher melting point.
ers leading to a loWer melting point

) . less monom
s, leading to a lower density

) d. more branches in the chain
ules with weaker covalent bonds

) e. much shorter molec




11k Ll._lr.._'h.l.l _r-l'l.l'ln. B N B N W e W W

—_ W

s
L ¥
-
=
|._l
]
;
—_—
—
[
L
i
o
-
=
o
I_ .:
E
=
|
i
L
i
d
i
-I
0
>

i
| PORA
» none of them s COrTi |




Question 9

Not yet
answered

Marked out of
2.00

¥ Flag
guestion

: A ) e

\ Time left 0:16:2]

One of the following statements is true regarding Tg of polymers

g, plastics having a Tg less than room temperature tend to be brittle and easy to
break at room temperature

L1 plastics having a Tg greater than room temperature tend to be brittle and easy
to break at room temperature

LJ¥C: Only amorphous plastics having a Tg greater than room temperature tend to
be brittle and easy to break at room temperature

Od Only semi crystalline plastics having a Tg greater than room temperature tend
to be brittle and easy to break at room temperature A

O e. Tg is always greater than Tm

<TG -1 Lich(RmiEa

Quiz navigati

S

=il

19 | 2::1'21

i
|

'I

Finish attempt

ILP:' |




nal Exam (page 17 of 25)

™ a R o g
R , tps://juexams.com/maod _= v W ST

;!—|-\.'-:. ||_'.|I‘.‘. ;\i

One of the ri:.-llr‘.u.*f'm{; IS Q anferance in tha equipment between extrusior

Of Crystalline TFI-_'Ir""ll'_lF::-.".“Srlr_j_’- and extrusion of amorphous thermanl 8
wrl R T T > LI e IS

0o The o TRl : ! .
IE] a. The differences is that 2Xirusion machines uged for extriician of

| , R FUTID] Sege
crystalline plastics have higher L/D rat

e T s e e e | Db ek
he diffe Bnce - |'|'_]' axtrusion mochir tsed for exir -
~rvetrill F BoisEtiee hinue 17 ' 1t
crystalline plastics have lower L/D ra
* L | ek = i 1 ILH1 L ol G d L it f
== - — - F
¥ 3kl ! L ] 1
P
&1 i I







Question 5

Not yet
answered

Marked out of
2.00

. ¥ Flag
question

What is the type of defect in the image below
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vwhat type of resin is used to make car dash boards

a. ABS

b. PP
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AN extruder has a barrel di Imeter of 100 mm = SCrew rotates at 100 rom, has a channeal
depth of 5 mm, and a flight angle of 0.29671 rac s the maximum flow rate in mm */s

/ .
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If a part is to be made of LDPE by injection molding and one of its dimensions is 100
mm. Taking shrinkage into consideration Compute the corresponding dimension of

the mold cavity. The shrinkage value S= 0.03 for LDPE
WRITE YOUR FINAL ANSWER ROUNDED TO ONE DECIMAL PLACE AND DONT WRITE UNITS IN

YOUR FINAL ANSWER JUST THE NUMERICAL VALUE
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- The screw rotates at 55 rev/min, its channel depth =8.0r
‘Head pressure at the die end of the barrel = 10, 0(10°) Pu. ity 0
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O Q256 %1076 m3/s

O b.2011 *10°8 m¥/s
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O d.20.11 *107% cm?®/[s
O e.20.11*107% m3/min

el .!:'.r-.l :. ) -

S, o Ty =



-_—_ = S JUEAGIT GO MO00a... 1 = @

Fin
LUastiion 4
it '\.I'l.|| anawered
Marked out af ) L}

Flag aquestion

in rotational molding in order to ensure uniforn ity of all thickne:
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[ime laft 028

If the open discharge flow rate of an extruder is 250 cm?/s and the pressure during closed

discharge is 10 MPa. Also If the shapé factor of the die is

= =] 27 | 1 & . .
5% 107" m*[Ns . what is the operating point of the extruder
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If a pressure difference of 1.20000 bar is needed to maintain a onstant volume flow rate of

6000

00 cm”min out from the extrusion machine. Calculate the power required to achlieve
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trua reqoarding rotational molding

& 0. Parts mode by rototionol mol N are symmetrical and holliow

rotational malding ore symmetrical and not holok
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One of the following statements are true regarding blow molding

Q. Most thermoset plastics can be blow molded (in the ory)

h

" Most thermoplastics cannot be blow m olcdeq Iflr': theory _f
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An extruder has a barrel diameter of 100 mm. The screw rotates at 100 rpm, has a

channel depth of 5 mm, and a flight angle of 0.29671 rad. What is the maximum flow
rate in mm?*/s (open discharge) of polypropylene that can be achieved

Write your numerical answer only rounded up to the nearest whole number NO DIGITS
without units
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0 part is to be made of Nylon-6,6 by injection molding and one of its
imensions is 100 mm. Taking shrinkage into consideration Compute
e corresponding dimension of the mold cavity in mm. The shrinkage
alue S= 0.014 for Nylon-6,6

VRITE YOUR FINAL ANSWER ROUNDED TO ONE DECIMAL FLACE AND DOINT

VRITE UNITS IN YOUR FINAL ANSWER JUST THE NUMERICAL VALUE
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